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Section-A

qUe—H
{Very Shurtl Answgr Type Questions)
(o g ST 9)
ﬁnswer all the five questions. Each-qucsﬁc.m

carries 4 marks. Very short answer is required not

cxceeding 75 words. 4x5=20
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_ Define Trade Union and discuss multiplicity-of - | _ ' Section-B o
- ' . ] o -
TradeUnions. . ' - s
' I'Ef'ﬂT & i SR e A | #t _ (Short Answer Type Questions)
. ' ' (wg =7 uw)
i%itﬁf{l o -
ﬁ'gﬁ?ﬂ'% g Answer any two questions out of the following
| three questions. Each question carries 10 marks.
‘4':! ' Basic objects of the Payment of Wages Short answer is required not exceeding 200 words.
o | | 10x2=20
" Act, 1936, e : - N _ :
- - el S ot § ¥ B & w3 o
e S, 1936 B I Sa¥ L - - :
q‘»ﬂ'gﬂm S ST | Ted% U7 10 S &0 | arfeem 200
| | - | =l 4 WY Iu¥ onfE 2 |
5. 'Partial disablement' in context of Workmen's :
'r_.q-_-'__:"__-- i -
- Compensation Act, 1923. ' ’ 6 Clearly  explain who is a workman - of an
| . ¢ 3 ‘\?Fﬂﬁl?ﬁ - .. employer under the Industrial Disputes Act, 1947.
FHHI HITBY a.[i T . L et e sftfmm, 1947 @ swaia P
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e Discuss the procedure for- the registrz_:ﬁun and

recognition of a Trade Umun

e Ui SR 1

Provident Fund Act, 1991.

FET WA R SR, 1991 %:mﬂﬁ |

SR H - THSIET |

Secﬁ_ﬂn-(_: |
(Long Answer Type Quesﬁuﬁs)_ |
(& sl HEFT)
Answer any three questions out of the fnllowmg
five questions. Each question carﬂes 20 marLs .

Answer is required in detail. | 20%3=60
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3. Explain the contribution under '_Employeés____

(6)
frr=fafaa dig meaf § @ 6 @ 9 B SR
fﬁzanﬂtﬁﬁaﬁzoﬁaﬁaﬂ_bﬁﬁﬂm

SR T

2 Give a brief account of evolution of 'Industrial -

Legislation’ in India. _
TMRa F RN R % ITAd H H‘E{tﬂ
SEr-sTEr Sega a%ﬁ“fq !

‘1}]. When wages of workmen have to be paid in case

of strike ? When can services of a workman be

terminated in case of strike ?
ezt 1 By st < A g A
T O ¥ ? wge B R A e @
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12.

7

Discuss the immunities from civil and criminal

liabilities avaliable to the oﬁice.beare_rs of a

Trade Union.
Th AR W9 % 9EERgl $ gEr oF

Define deduction. What deductions can be made

by an employer from the wages of an employee

under the Payment of Wages Act, 1936 ?
FN H URwE PRE 1 TER d@eE
I, 1936 $ Tald [0 WpR B FHelfaan
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W‘hat do you understand by maternity benefit ?
For what period a woman émploye_e shall be

entitled to get maternity benefit under the

- Maternity Bcneﬁt-Act, 19617

AT WY ¥ oY F G S 7 U AfRar
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